[ Efficiency vs vertpos |

efficiency vs vert r

Ratio

0.8

0.6

I ' """""" """"""

0.4—----------5 ------------ -1 ............

R SRR Y
3 : : 4
L : :+*+
L : T,
H | 0 E!r
: qu-l - .
o
i - +
0.954

1072 107 1

2

= BINSREE
—e— DOM~CKFREFit-testlowPt Oevt
Efficiend —— BoM-clEREE SRR L T hbr G004 ¢
icienq —— BOM-GREREFQR s L ombt 10006
1.2

efficiency vs vert z

Ratio

=

0.8

0.6

0.4

0.2

e

9935 =20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N

efficiency vs Sim. PV

o
o

Ratio

1.2

o
©

=

095615 10 5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


